


F B5 @ #%

MEAEICHI & s, SELHM a7 A L AEHENKE LRV, Fi72 b oA REERIX
RERBAERERLS SNE LT, ZART, FM34E 12 A 17 RIZKIAIEX THRAEL
eV KK TIE, 2L OREHEZHTREREENBELE L, 20X 5 RN AH*
. [REROEY) T d R — MBI RT3 U, BAIT R A a2 & S L i ik
R0, THB R OFRERDL, FEB, HER T, Bk 755 OREEER I 2k D%
HOMRE LE L, FERICES « D0 ERMIET 2 WMITBUIER O£ - MELSF L7
O, BIRRIGNIE, FHER e TP A ZE 00 FE M & U U 72 R IE A ket L Ty <L
HYET,

TEAAE LT, PR 4 5303 16 520 5 OMEICHS E T AMREE FEhi L, Bk 54
OALE - {53 - 5B E R OEBLORDUC O W THREE4T> CWET, FiflanF v/ LR
U THUWEEESRR) 2B E 7 LW CTHREERFI A EH ST, BEROZ
TR C DTER R KR SER A RIRICHEBR T2 Z L N EETH D LB ET,

F7-. HHESICET2EKRRERKDOH HEMOERE . FIHT2HBELAFTL, &
WORI M OS2 ¥+ 25 2 & TAEBF OB EZ NS Z L& B DESCIEMITIR D
INFRMNE ] VR 3L AFE4AH 1 ANSITINE Lz, ZORIEICESEEROZ MR E
E S QAT = S

KT #IT, EROKE#ES X 5720, RS RamEzh SO JE 5,
F - ROKKTRER), Sina i ~07 v — MRS N SO N ZE W TEEH A
Lan DR E LHERFE A TR L COET,

B om0 A L A EGIE DR L D REBROZ(OH T, THATEROTIEY %
R L, ERVLL L TELE L ZRRMIE-S < icmiy, THITEEHEL T\»E& E
7,



TEHHEE

G2 A H

=B

ESI S N

SM3FE4H1H

~

SRN443 H31H

JK #H

TR « B A « BikoX 7 by B
DOEATENZ K 5K DOREOINT % i

SF3HE4H1H

~

SR44 3 A31H

[ - @ - 7K

oS fas oy A

AR 1561 « KIETRHARBNELS <
J 6821 DAL EH

SF3HE4H1H

~

SF44 3 A31H

PG
A M OSSRk
5O % At LB

'f“‘ /r’r

2581 DL F 5% 2 DA & F it
10&#@@%% S S O ARG s
ZAFALER

SF3HE4H8H

~

S48 3 H8H

<t
~
=
ot
$

T4 DS Kt G D ST 4 % F it
NI S5 D R A 22250 S it
178 NDEWEICX LT v — s % Ehi

SF3FE4H2H

~

R

HEA - L - BIBRFE A RIT1281F D
AIFRTEE - B OLaRE S & It

SF 443 H25H
AMBEILA 9 H~15H AT ER O S
ahnassn1n~rn |70 B R
SF1 346
TR ORI s [ - RT3 LI B
) B BT R 7 S
S 347 H20H
¥ 3 7THTH~S8
e omnn | w o | PR A 140 A
b R T RS AR A 50T

A 3EILALLE

_30_



2 YHBHEAER - JHBHE D AKREIRD (470 3 4EE)

I
) PR I wewms s om | E M K| E o=
AT &
W Bh A 1,573 389 277 71. 2%
R3HHBL & 3, 151 190 191 100. 5%
A A 1,072 126 143 113.5%
x o B 1, 189 130 136 104. 6%
N = 6, 985 835 747 89. 5%
3 PBHAEBEE RN (45F0 3 AR )
o AT B
HT W7 & F
T H
= - A 5% 3, 439 652 4,091
Bh kB B 2 B &3 5 HEERT 765 127 892
B k& B F SEA B F EPr 582 120 702
WM Bh R s B E T 561 120 681

_31_



4 B KEEEE SRR

FRFERH KOE BT RGEE | HREDG S B Bk - B B GRY
Gy

FEhamEEe BT A | ERERE | BT A | EEEE D BT A
SRR 294F 2 120
RS04 FE 1 69 1 30
BRI E 1 68 <%£%A> 14
N 2 B 1 70 1 31
SN 3 AR 2 140 1 50

AT 2 R ARG OE BTG R 1. —IRTEIE N ARG K - B I 5T
SN 3 HEEE HIRERL S BB B . RS O B 1, AR EE N B AREL K - B
KRR

5 FIBFEEEZEDKRI (470 3 4EEE)
EEHY
X5 AL FEERT Z D at
SRIEES
M| H B A 14 51 28 9 102
FRAEIES 33 33
A | B SGERESE 4 8 8 6 26
A | ZnAN B 542 4,643 975 261 6, 421
B | #®E 103 442 178 75 798

_32_




6 HBFRAREEORERN

i Al Sepit SER!| SER!|
s o | somit | S| TN | e
1H PAS v 48 40 45 47 53
BN Ok B R E 10 8 10 17 17
J==R S < I I < 15 3 7 10 6
AT v T — A 2 10 5 5 3
Wk MoFE O Ok R
Koo Ho k& 1
5 S I NI S E D - 1
i | ~wa &7 ik ¥ k%
oK W k@& i 1 6 3 1
B W B R TR 10 12
Ry — U Rk RR 1 1 1 3 3
2Ry A — DR B KR 4 1 1
e H # kK A R i 84 95 106 95 102
REEY IPY L Y
iE: oE kK O OWR R
;; THBIRE BT 2 JSHRENER AR 17 8 21 10 9
W B o & W 18 14 6 5 4
e | b o H, 5 3 3 3 3
igf i i kT 38 41 44 43 40
(L 8 = 0 3 2 4 2
2 | il H 7K 1 1 1
A S B S ! !
Sl & B k@ L 1
Wl gk = v v bt
= 7 246 228 262 252 258

_33_




7T FEBEEYORNR (470 3 4R JE)
BT B
1 r R A & &t
3 a3 347 38 385
4 a3 139 13 152
5 a3 51 6 57
6 s 13 13
7 e 6 6
8 e 2 2
10 e 2 2
13 e 1 1
& &t 561 57 618
K RETIX, GFENLTEY A,
8 BHEFREDRI
(1) B‘BESEMDOBRERBEMHE
B sk 00 e | Tk 30 4R | AR | 2 4REE | A 3 AR
TET )
18 147 149 148 109 134
P 35 34 22 20 22
& 182 183 170 129 156

_34_




(2) AZBIBREREHEK (45Fn 3 4EE)
H H T O Z DAl aat
AR gegii| g [soe| gmer |sopd] e |
. A B - Wk ] AE
0 AR - ERY
A |F v N —%F
. 0 E B Y %
N (ERREERREEESS
= |\ Ry I A%
5 A RS - BRI &
=/ = JEl 2 1 3
4 ER- 1 2 11
- A |kt - AT VE 1 1
=S E: 1 7
A | - BT E
5 o (ME-REERM(EE)] 2 2
N NERERRL RAFE 1 1
= | H EH =%
7 " £ 1 1
8 -
0 1 |ER - BARwS| 1 1
R SR
10 B 0D 45 HL I S
11 ot - SR OBE SE
0 A | T % - 1F % pr| 11 3 4 3 21
=R T I QAR i
3 A |H ®) B oA 1 1
2| FREAT B SR AN R
14 A 17 3 4 1 25
15 AT O FEF 17 5 1 23
6 14 |HEHBOHEE] 4 4
0 o|E Do E A
17 -l A o
* T sl 47 6 1 1 55
s 2 fill
= F 118 18 15 4 1 156

_35_




9 EEFHFEAVPEER Trr— R (4 3 )
LRI TR~ ES TR IS ESD TR
e M A 416 178 42. 8%
B R &
N fH o8 F 4 EEEER O
1 IEEFHLREHELTHD, 97
WoE 2 FEOBEREPIEZLTHD, 107
3 HFHEEBEZHRL THD, 97
4 HEOKEZMHRL TH D, 121
EEH KSRGS | 1 EEHARERFEREL TH D, 140
10 WHRLZEEHS (470 B4EEE)
oo 4 i B AE H A = B K [
1 % KR 7 & B = 15644 H 1 A 64 FZEFT
2 — & B kB o= Z 14852
3 L % B ok 8 o= ) 96 2T
4 f& R W K & H o= ) ABHEERT
5 & JE O 2 W & ) 8T
= G 361 F T

_36_




11 S ELHAERR
(1) 2>4EHEZ 77 (4 3 4EJE)
4 P i A H A 777 B i 5
I/ N R AW 7 7 7| BT84 A 1 H 25\
I INFRAFEWE 7 Z 7| FRSES H24H PN
mANERALOEWN 2 7 7| FER3ESH1H 10N
HENFERADEMEE 2 T 7 k712208 12N
= i YN
(2) $EHZ 77 (47Fn 3 4EJE)
Za i & B AR A OH 777 B i %
4 ShHER ARG 7 7 7| P44 A 1 H 146 A
AR —RERSDEW 2 77| k52 H 1 H 90 A
BRNEE R BRSEWB 2 77| R T AELLA 1 H 93 A
LS HNMESNEE 2 77| PRk 7H12A20R 48 \
IR E SRR 77 ) 94N
" i S HERE ShAETE s 2 7 7 Z 67 A
H Ji 5 HE B Sh AR V6 B 7 7 Z 38 A
Ve S HE B B FETE R 2 T T Z 50 A
#ﬁﬁj]%&@%?‘%%ﬁ??‘ Z 58 A
| HEE S EEB 2 T T Z 117 A
! =N HERE Sh =BG 7 Z 7 Z 41N
L BL S HE [ S 25 B 2 T 7 Z 240 A
FELZ E G REEEN 2 T 7 Z 160 A
HRESNHER SR 2 7 7| ERk15 6 A13H 96 A\
EAEERERNENY 2 77 FRRI24E11 29 H 85 A
DO AIEREEDEN 2 77| ER124E12H 6 H 90 A

_37_




Zd L & R4 A A 77 B¥ W 5
MR BITSEMEEE 2 7 7 SERI24E12A11R 88 A
I —RERNEN 2 77| ERRITEI2A 16 H 119 A
Wirve=c CyRAMENY 2 77| FERR5HE2A 1A 96 A
b S IXRBERDEMHE 7 T 7 Il (AUN
R s L RSEN 2 57| ERR 74120 1 H 107 A
P P S HE R Sh ARG 2 T 7 I 56 A\
17| 7% 39 76 sh i B $h 40 B 2 5 7 y 390
HWILDHRELEWNBE 2 7 7| k156 A12H 33N
Lv e = REESENY 2 77| SERR214E4 H 1A 108 A
Db A RREERGENY 2 77| SM344 A 1H 95 \
1 MEEH T IREEN 2 57 / N
ZH Z UG ESEE 2 77 ! 106 A
LA 0 RERSENS 2 57 / PN
B3t i T OB RSN 2 77 / 120\
Ny E=hHOBEDEM 2 T / 114N
EEDRERSDEWY 2 77| FHR4F4A1H 135 A
BEHR PR B [ Sh AR 7 7 7 Z 142 A
AR\ KFHHERSNAEW 2 7 7| Pk 74124201 8 A
£ Sh #E = Sh AR B 2 Z 7 Z 26 A\
— B HERE S 2 T Z 17N
AT |5l 6 i Bl sh 4 4B 2 5 7 u 43N
RO HR D FEWHY 7 77 Z 58 A
o’ 2t K 31757 2, T90 A\
&7 757 429 \
= At 387 77 3,219 A

(3) L&tBhiks 77
BIE  fmAk7e L

_38_




